
Séquence de Nombres Linéaires (C)Remplissez les nombres qui manquent de chaque nombre linéaire.
1. 64 44Différence commune:2. -67 -42 58 83 108 158Différence commune:3. 90 40 10Différence commune:4. 172 72 47 -3 -28Différence commune:5. 152 102 -48 -98Différence commune:6. 542 442 142 -58 -358Différence commune:7. 7 37 47 67 97Différence commune:8. -320 -245 -20 55 130 280 355Différence commune: Mathslibres.com



Séquence de Nombres Linéaires (C) RéponsesRemplissez les nombres qui manquent de chaque nombre linéaire.
1. 74 69 64 59 54 49 44 39 34 29Différence commune: -52. -67 -42 -17 8 33 58 83 108 133 158Différence commune: 253. 100 90 80 70 60 50 40 30 20 10Différence commune: -104. 172 147 122 97 72 47 22 -3 -28 -53Différence commune: -255. 252 202 152 102 52 2 -48 -98 -148 -198Différence commune: -506. 542 442 342 242 142 42 -58 -158 -258 -358Différence commune: -1007. 7 17 27 37 47 57 67 77 87 97Différence commune: 108. -320 -245 -170 -95 -20 55 130 205 280 355Différence commune: 75Mathslibres.com


